V200

-

1

NOWY

/] Ea
[ ; :
= N [
"“m\ N <
I TRE—E A
- ] - ;
1 s P N
- - B
“- bt — -1
7 % 7
E

[3.19]

81.00

N\

AN

Tl

SECTION A-A
SCALE1:1.5

A2

Sht 1 of11Shts

Not to Scale
Unless otherwise stated

ITEM NO. [PART NUMBER DESCRIPTION | QTY.

2 clock 35-Front Panel Wood 9mm thk 1

Clock 35-Back Panel Wood 9mm thk 1

Clock 35-Frame Spacer Wood @20 4

Clock 35-Gear spacer Wood @16 2

Clock 35-Escape wheel Wood 9mm thk 1

Clock 35-Gear 60 Teeth Wood 6mm thk 3

Clock 35-Gears-12 Teeth Wood 6mm thk 1

Clock 35-Gears-10 Teeth Wood 6mm thk 1

Clock 35-Gear 15 teeth Wood 6mm thk 1

Clock 35-Gear spacer-d14mm Wood J14 1

Clock 35-Gear spacer-Drive Wood 316 1

Clock 35-Gear 35 Teeth Wood 6mm thk 1

Clock 35-Hour Gears-32 Teeth Wood 6mm thk 1

Clock 35-Hour Gears-30 Teeth Wood 6mm thk 1
16 Clock 35-Hour Gears-8 Teeth Wood 6mm thk 1
17 Clock 35-Hour Gears-10 Teeth Wood 6mm thk 1
18 Clock 35-Hour Tube Wood @9 1
19 Clock 35-Hour Hand Plastic 3mm thk 1
20 Clock 35-Minute Hand Plastic 3mm thk 1
21 Clock 35-Gear Shaft Short Silver Steel @4x72mm> 3
22 Clock 35-Gear Shaft Long Silver Steel @4x110mm 1
23 Clock 35-Pendulum Head Wood 9mm thk 1
24 Clock 35-Pendulum Rod Carbon Fibre tube @6 1
25 Clock 35-Pendulum Bob Brass 916 1
26 Clock 35-Pendulum Nut Brass @16 1
27 Clock 35-Pendulum Sleeve Brass @6 1
28 Clock 35-Pallet Plastic 2mm Thk 2
29 Clock 35-Escapement Wood 9mm 1
30 Clock 35-Escapement Sleeve Brass @6 1
31 Clock 35-Pendulum Pivot Pin Silver steel @2mm 1
32 Pendulum-Escapement connector | Silver steel @3mm 1
33 Clock 35-end stop Plastic 2mm Thk 2
34 Clock 35-Pallet-Clamp-2 Wood 6mm thk 2
39 Clock 35-Dial spacer Wood 6mm thk 4
36 Clock 35-Pin-24mm Silver Steel @4x24 1
37 Clock 35-Spring Cousins ANS12 1
38 Clock 35-Spring-Cover Plate Wood 6mm thk 1
39 Clock 35-Spring-Pin Silver Steel @2x24 | 1
40 Clock 35-Spring Arbor Brass @8x72mm 1
41 Clock 35-Spring Gear-Bush Acetal Bar @16mm | 2
42 Clock 35-Spring-Support Arm Wood 24 mm thk 1
43 Clock 35-Spring Gear- Case Wood 24mm thk 1
44 Clock 35-Spring Gear-38 Wood 6mm thk 1
45 Clock 35-Key Drive Pin Silver Steel @3x24mm 5
46 Clock 35-Frame Threaded rod Steel Threaded rod @6x95 | 4
47 Bearing @4mmxZ10mmx4mm MR104ZZ 8
48 Domed nut-m6x1 M6 Domed Nut 8
49 M6 Washer Brass or Delrin 8
50 Clock 35-Winder Drive Wood see drawing 1
51 Screw PAN H_M4 x 0~7_10 Pan Head M4 2
52 Nut M4 Nut m4 2
53 Washer M4 Brass or Delrin Z
54 woodscrew 3mmx16mm Brass 3
b5 Woodscrew No6x25mm Brass 1
56 Clock 35 Pawl Wood 9mm thk 1
57 Clock 35 Dial 1
58 Clock 35-Dial Pin 4
59 Clock 35-Dial Shield Pin 8

Law Wooden Clock 35 - Toyland Clock

All dimensions in mm and (inches)

3rd Angle projection

Designed by: Brian law
www.woodenclocks.co.uk October 2018



RNNNE

" "' =%
=
‘ —
- =1
r: o

SREAN

— P

= _;.__g‘!lil

All dimensions in mm and (inches) Designed by: Brian law



in mm and (inches) Designed by : Brian la

: w
www.woodenclocks.co.uk October 2018



[18.14]

410,00
[2.36]
[25s] - 0000
= 75T
i&ﬁ]
"'\.\I|
&y
] ? }__.-'
"-“ﬁ-':? v . /
g , 7
L Jeo ) - W7
=
.'r.aa i y.
e - !
3 12 / A
Y [ Z
58 o 2 [a20]
G ko &0
[a1e]
’ [298] 257 [Eé? S EE
a2 | 00,27 : o ; EEJ ]
w z8 "
Hi = 111
. = SN Baaring keation -
7 - = 7 Eﬁ -l-pﬂiu_‘_'"-. f,f
A 2 ‘é? & I’F.E‘ ’;,f
== 1
% 28 2
i3 o — e ’
\ A 23 i
7
_ 2N /
=, iy
W5 'ﬁ ] __,-;";,-r‘
P | g, A
[s.12] ! (23]
130 0 [l 5]
L_G SECTION C-C
(3) Wood dmm Tk i

Soe 1:1

S 4 11 A2 Low Wooden Glock 35 - Toyland Clock

mﬁ:mm Mmm”{ mmﬂﬁn“:;ﬁm Dwoiober 2018



[11.83]
5 50
{178 ]
ITATE
D
Eﬂﬂ | i:d-ﬁv] [o12]
o i' ¥
B = g’ "
\ E.Fi | o [~
oz | -
) )
R O EE[ J f & [0a7) T
2 : L - 1
| ’
S e
R T-ar
[mn]
5 iy
---E T =%
LEESEE
=8 g
Eg B 5
—— EE 5
r-'-a —E <1 L
o ﬂg b Banring kcaton
K ERC T
Chrdy Wi peiriition
hais & 4.5 mm hole
through.
®
|~
z
I’
v
-
SECTION D-D
SCALE 1:1

HA S ot 130 A2 LawWooden Clock 35 - Toyland Clock

Al
mﬁ:mm mwﬂ*w m*:.h Dol 2018



Print g this i 10 scale arad than use it o
Ak T pecisoning of fes Shishds beleea ghang |

SECTION F-F
SCALE1:1
E [o.2a]
BOD___
-
=8
[
(‘5g) Ground Stoel S4mm
aad A
Wiosed SECTION E-E
s-mlu:i:mm SCALE 1:1
This i6 i jig b s 12 Sl e e b e Bk of hs sl
4o the purpose alighrement when e shedds ars ghved in
e S i1 A e Wooden Clock 35 - Tovland Clock
Lriata ciharwiss saksd A g S Lgroa
Pt 1 Bcie Al Simensions in rrem and {inchas) Dmsigrae by Biriae

e eDsdenciocks. oouk  Dholober 2018



[@ar]
E00_

i SECTION J-J
1 SCALE 1:1

MIOITTTTITITTTITIm

[ore

LETH
--.l?m:I -

Main Spring- Amarican Ansania {7

12 wiche x 045 sk x 500 long x DUiTmm

CoiHes UK oode « ANS12

hps s cousinsuk comdproduc] smercan- aneona

oF =~

‘ bipes STt ey oM 20 B A 2 Tl (1 2 13 T =0t b eraginagnaineg himi I'E.-' Parid
Wrood Bmm Tk
; E{ Seala 11
i 2 : ; = .ﬁ|
; 3 [osa)

|ﬂ i-_jf o (o4 Iin:?&] - l0.18]
= : : 60 = Contarsink for Screw |01/ 4,00
: r - e o —
| .'Iﬂ.'r” e
|| -:.E_E -
L] i
[ ¥
- !
=

r. .l_. d
B 1 gy | Pl
[iﬂ'ﬂ'l_l | BECTION HH
SOALE -1
S T ol115im A2 Law Wooden Clock 35 - Toyland Clock

Senln 11 Seeala 101 kst is Seple Al St i mm ik (inched Dhviidgrieed ey Birtan lovw
Limbeas otfseranio Slalod Jrd Anghe proseciion W wosdenchooks ooulk Qcioter 2018




[0.35]
") : 9.00
Lt — ]
2 (29) s T s
2) N 0 A A A S T oS o~ I\ | XX S N\, == |~ k-
Es==a \5)- [
* : e 38 38
————— N o @ 2
2.8 NS
i — "
© == -
W o
3 ’
| |
OO OH
| |
¢ _J 1
SN
0] [ H Escapement \QTL W
@ Wood 9mm Thk }ﬁ/ Pendulum Head
Scale 1:1 Wood 10mm Thk
[0.24] [0.35] ‘ ®/ I Scale 1:1
J 6.00 g.00
—o [0.81] =
23 SIS 2050 _ -
Eg > Qf\ﬂ'\g 2.6 =,
53) (51 =8 AN ) [0.41]
52 [ | 10.50
—— e - ‘ ' End Stop
53 HAPSNAI Sleeve Pendulum Sleeve @ Plastic 2mm thk
v, =s Brass @6mm Brass @6mm Scale 1:1
= — Scale 1:1 -Scale 1:1
Pallet Clamp /%6, o) [2.20] L?‘?;e/ [1.65]
Wood 6mm Thk % - 56.00 - ‘%D - 42.00 -
2 Required C ) [ |
Scale 1:1
Pendulum Pivot Pin Pendulum-Escapement Connector
@ Ground Steel @2mm @ Ground Steel @3mm
Scale 1:1 Scale 1:1
¢ o —
oo = D
< © oM M~
[ E‘h
T
/.@ TN
©'3 [0.17]
— -~ i 4.40
[0.35]
o 9.00
SE
NN End Stop
Plastic 2mm thk
2 Required
Scale 1:1
[10.08]
256.00 ,
[8.19]
208.00
[0.39]
e 10.00
4|._-_.._
_______________________________________________________ b e
M6 Threaded Rod turned
Pendulum Rod i
Carbon Fibre tube @6 x @4Bore downiatihi gnd to fitinto
i the Carbon Fibre Tube.
Scale 1:1
[1.65] —s [0.39]
— b 42.00 ¥ o 100014 g
[0.24 ] - gyl , 2.00
6.00 Thread M6 [—
7 wol Ol
7 ge |
p ]

Pendulum Nut
Pendulum Bob Brass @16mm
Brass @16mm Scale 1:1
Scale 1:1

Shil0 of 11Shts A2 L aw Wooden Clock 35 - Toyland Clock

Not to Scale

All dimensions in mm and (inches)
Unless otherwise stated

Designed by: Brian law
3rd Angle projection www.woodenclocks.co.uk October 2018



=
72777777

777 //ﬁ/// /////////// 7

# LA M_ |7 NNENNNNNGNNNNI \ \

\
AT

LV

N Loose Fit
I Tight Fit
B Glued

[ O HH
£

il A

ANANNNNNAN  NNNNNNNNNN SN

000000

f
4 v s P4 S va

3 H
h .

7 By i

W M D X

- n
L [ ]

Wrrl

Sht110f11Shts A2 | aw Wooden Clock 35 - Toyland Clock

Not to Scale All dimensions in mm and (inches) Designed by: Brian law
Unless otherwise stated 3rd Angle projection www.woodenclocks.co.uk October 2018



	Clock 35-Drawings_01.pdf
	Clock 35-Drawings_02.pdf
	Clock 35-Drawings_03.pdf
	Clock 35-Drawings_04.pdf
	Clock 35-Drawings_05.pdf
	Clock 35-Drawings_06.pdf
	Clock 35-Drawings_07.pdf
	Clock 35-Drawings_10.pdf
	Clock 35-Drawings_11.pdf

